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1. Find a positive number which when increased by 17 is equal to 60 times the reciprocal of the number

a.3
b. 10
c. |7
d. 20

Answer. a

2. What decimal of an hour is a second?

a. 0.0023
b. 0.0256
c. 0.00027
d. 0.000126

Answer. ¢

3. Three number are in the ratio of 3: 4: 5 and their L.C.M. is 2400. Their H.C.F. is:
a. 40

b. 80

c. 120

d. 200

Answer. a

4. Find the lowest common multiple of 24, 36 and 40,

Answer. ¢

5. Excluding stoppages, the speed of a bus is 54 kmph and including stoppages. It is 45 kmph. For how many minutes does the bus stop per hour?

a.9

b. 10



d. 20

Answer. b

6. A shopkeeper sold an article for Rs 2564.36. Approximately what was his profit percent if the cost price of the article was Rs 2400.

c. 6%
d. 7%

Answer. d

7. A tree is 12 m tall and casts an 8 m long shadow. At the same time, a flag pole caste a 100 m long shadow. How long is the flag pole?

a. 150 Meter
b. 200 Meter
c. 125 Meter
d. 115 Meter

Answer. a

8. A 'man took a loan at rate of 12% per annum simple interest. After 3 years, he had to pay 5400 interest. The principal amount borrowed by him was.

a. 14000
b. 15000
c. 16000
d. 17000

Answer. b

9. Find the average of first 10 multiples of 7

¢ 36.8
d. 38.5
Answer. d

I0. A farmer travelled a distance of 61 km in 9 hours. He travelled partly on foot (@ 4km/hr and partly on bicycle (@ 9 km/hr. the distance travelled on foot
is:

a. [4KM
b. I5KM
c. [6KM
d. 17TKM

Answer. ¢

11. Who laid the foundation of Indian National Army?



a. Subhash Chandra Bose
b. Rash Bihari Bose

c. Mohan Singh

d. Sohan Singh Bakhna

Answer. ¢

12. Lavani one of the most popular forms of dance and music that is practised in which state?
a. Maharashtra

b. Bihar

c. Gujarat

d. Andhra Pradesh

Answer. a

13. Which divides the world into difTerent time zones?
a. Latitudes

h. Longitudes

c. Equinox

d. Solstice

Answer. b

14. India is politically divided into

a. 29 States 7 union territories

b. 28 States 7 union territories

¢. 27 States 7 union territories

d. 29 States 6 union territories
Bonus is awarded for this question to all the candidates.

i5. From which place Narmada river originates?

a. Amarkantak
b. Aravalies

c. Betul

d. Nashik

Answer. a



16. The first railway line was opened between

a. Bombay and Thane
b. Pune and Bombay
c. Goa and Pune

d. Delhi and Agra

Answer. a

17. National flag was designed by

a. I C Mukherjee
b. Dr B R Ambedkar
c. Pingali Venkayya
d. Dr John Mathai

Answer. ¢

8. Training command to Indian Army is located at

a. Pune

b. Jaipur

c. Shimla
d. Lucknow

Answer. a

19. Which of the following trophy is related to badminton?

a. Davis Cup
b. Ryder Cup
c. Uber Cup
d. Durand Cup

Answer. ¢

20. Which is the highest military award during peace time?

a. Ashok Chakra

b. Kirti Chakra

c. Shaurya Chakra
d. None of the above
Answer. a

21. Below the number is given with one term missing.Choose the correct alternative that will continue the same pattern in place of question mark (7)-:
28,33.31,36.7, 39.



d. 40

Answer, b

22, EFG: LUK : MNO @ ?

a. PQR
b. OPQ
c. QRS
d. NOP

Answer. ¢

23,

"o

If"Blue" is called "balek", "balck" is called "green", "green is called "white", "white" is called "red"”, "red is called "vellow" and "yellow" is called "gray",
then what is the colour of milk?

a. White
b. Blue
c. Red

d. Yellow

Answer. ¢

24. Deepak is brother of Ravi.Rekha is sister of Atul. Ravi is son of Rekha. [How is Deepak related to Rekha?

a. Sonc

b. Brother
c. Nephew
d. Father

Answer. a

25, Ram is to the south of Shaym and to the west of Rani.If Priyanka is to the south of Ranithen in which direction is Privanka with respect to Rani?

a. South

b. North-East
¢. South -West
d. North

Answer. ¢

26. MKS stands for?



a. Mass-Kilogram-Second

b. Mass-Kelvin-Second

c. Meter-Kilogram-Second

d. Meter-Kelvin-Second

Answer. ¢

27. The Newton's first law is also called

a. Law of encrgy

b. Law of momentum

¢. Law of force

d. Law of inertia

Answer. d

28. Which of the following is the cleanest source of energy?

a. Bio Fuel

b. Fossil Fuel

c. Nuclear power
d. Wind energy

Answer. d

29, Which one of the following is correct for gravitational acceleration (g)?

a. g=GM2/R
b. e=R/GM

¢. e=G2M/R
d. g=GM/R2

Answer. d

30. Pure water [reczes at



d. None of these

Answer. ¢

31. The hearing range of human ears

a. 20 Hz to 20 kHz
b. less than 20 Hz

c. more than 20 kHz
d. 20 Hz to 25000 Hz

Answer. a

32. When a magnet is suspended freely it always aligns itselfin ................... Direction.

a. North

b. South

c¢. North-south
d. East-west

Answer. ¢

33. Which of the following pairs is not correctly matched?

a. Electron : Dalton

b. Proton : Goldstein

c. Neutron : Chadwick

d. Nucleus : Rutherford

Answer. a

34. Iconic bond is formed when there is transfer of electrons from

a. Non-metal to metal

b. Metal to non-metal

c. Metal to metalloids

d. Metal to metal



Answer. b

35. Ribosomes are found in

a. Cytoplasm and nucleus

b. Golgi complex and nucleus

¢. Mitochondria and bacterial cell

d. Endoplasmic reticulum and golgi complex

Answer. ¢

36. Who among following was responsible for partition of Bengal?

a. Lord Mountbettan
b. Lord hastings

c. Lord Curzon

d. Lord Dalhousic

Answer. ¢

37. What is the number of chromosomes in human body”?

b. 46
c. 47
d. None

Answer. b

38. Find the square root of 18769,

a. 131
b. 123
c. 137
d. 139

Answer. ¢

39. Who was the first woman Vice Air Marshal?



a. Durtha Banerjee

b. Padma Bandopadhyay

¢. Subroto Mukhi

d. Geeta Thakur

Answer, b

40. What is the chemical symbol of gold?

a. Au
b. Sn
c. Ag
d. Pt

Answer. a

41. What is the angle between two sides in an equilateral side?

a. 30°
b. 60°
c. 90°
d. 150°

Answer. b

42, Which of the following is composed by kalhan?

a, Kavitavali

b. Godan

¢. Meghdoot

d. Rajatarangini

Answer. d

43. Which of the following gas is poisonous?

a, Carbon dioxide

b. Oxygen

c. Carbon Monoxide
d. All of the above
Answer. ¢

44. If the length and breadth of a rectangular field are 80m and 60m respectively and a 3 meter wide path has been made from the edges inside it.then what
will be the arca of the path?



a. 4800 square meters
b. 300 square meters
¢. 804 squarc meters
d. 800 square meters

Answer. ¢

45, When was the first battle of Panipat fought?

a. 21 April, 1326
b. 21 Aril,1562
c. 20 April, 1556
d. 21 June, 1761

Answer. a

46. What is the frequency of AC (alternate current)?

a. 50Hz
b. 20Hz
c. 35Hz
d. 6511z

Answer. a

47.1fA:B=3:4and B:C=8:9, then A:C =%

a.2:3
b.3:2
c.4:5
d.6:7

Answer. a

48. Mahatma Gandhi was assassinated in the vear?
a, 1945

b. 1948

c. 1950

d. 1949

Answer. b

49. A heavy object when immersed in water feels much lighter. Thisisdueto ... .

a. Buoyancy



b. Acceleration
¢. Friction
d. Gravity

Answer. a

50. By selling an old scooter for Rs. 2970, a man losses 10 %. At what cost he should sell the scooter as to gain 20% ?

a. Rs. 3690
b. Rs. 3660
c. Rs. 3960
d. Rs. 3360

Answer., ¢
Test Question Language:- HINDI

1.TF o9 TG W7 S 17 7 dieact @i o e OO (TR HET) Euar 60 ue orF 7

a3

b. 10
c. 17
d. 20

Answer. a

2. TS T RN UG WU Tl

a. 0.0025
b. 0.0256
c. 0.00027
d. 0.000126

Answer. ¢

3.7 AR MU= 3:4:5 91 TUIRRIE Sied 3 Wil ayTy GRS AWN®2400 S, R O qudl B Jewd 9 Gy fadl edd 2

a. 40

d. 200

Answer. a

4,24, 36 307 40 Fr9r WaEld Slel QNS [OTER S0

a. 120
b. 240
c. 360

d. 480



Answer. ¢

S, Jfg giesal, aOEl 97 54 fFardier viadw onftr uid 939 S0 a7 45 ey vfaaw so@r . av o ufdow a9 fdt fafetast yiae s/a

d. 20

Answer. b

6. TF TPFER TH 7% 3 2564.36 1 B, R 71 5qa g a2 2400 380 T T goFeRTe [l T T e shw?

c. 0%
d. 7%

Answer. d

7.0 o a1 Wex J9 32, Ol wael § Wiew o9 ugd, arg 3, Ussl eauiredl wiardl wrdell 100 Hiew did USd, aF Wi sgwredn @iard J et arda?

a. 150 Hiex
b. 200 Hiex
¢. 125 diex
d. 115 diex

Answer. a

8. T - &2 T e WHel 2 % TN SNy Fel dad. dF guHae, Ta 5400 = WRE aFTe. TR T 1 dede fedl JEd @il @l gad ald?

a. 14000
b. 15000
c. 16000
d. 17000

Answer. b

9. 7= ulged 10 qoERIE S Srer?

d. 38.5

%)

Answer. d

). TH YaEa 6 fhader § o 7% g Fod. o $TE iR IR feaiier uidare o 9 unft Tee oR & anftr @t ofew 9 fredter wivaw w
G UgEeeR UR dol. a8 B AH gl d@ned el o ur & 7



a. 14f&
b. 15 foe
c. 16f&H
d. 177

Answer. ¢

1L ¥ g S gEdde U U Sl 39T e

b. risEr] 44
c. e Rig
d. gig= f&m s

Answer. ¢

12. @@l &1 ww wafa diefr Jor ofr T UeR S s uihg omg?

a. FIERTY
b. fegr
¢, TaRrd
d. & wew

Answer. a
13, SATTY STaTesd] YHTON desaiR 9F SIS a?

2. &
b. warw
c. fayg

d. Hedl

Answer. b

14. YR IS SR [JUTE ...

a. 29 TS 7 HEEnid wem
b. 28 Wl 7 hgwifid wdw
. 273 7 Funfi waw
d. 29 T 6 DEEmiE wdw

Answer. a

15, T T4 S RIEIRE 379 9ad?

a. RETH
b. $Raef!
c. 3@

d. TR



Answer. a

16. Hald uyy Y Wl S wEST EE P ST Hie

b. qil afr HEg
c. iar anfor gat
d. faeell anfor s

Answer. a

17. gy ey Fafo (fegrd) wiol $a?

a. T=. T, gEelt
b. ST SrawRe dfdEHy,
c. et daman
d. 31 91 T,

Answer. ¢

18. "udla A e sis o ame?

a. gul

b. SR
c. famen
d. TETFH

Answer. a

19. TOFT FHIOE TIET (AvEF) Sefteeh gefi 2mg?

a. Sy Ius
b. ITST &4
¢. I P

d. SgiE &9

Answer. ¢

20, Tidt @ dader BT uidite wefE g

a. 3Ed TE

b. @ TF

c. I =%

d. Sfetet s
Answer. a

21. @l FE 0 fedd Mg U U e faoen AEL S ofF foor A dt of @ feelt e ol Um amg miE RmEe (Ued) dUR gied, aY nuEE
SR (S FHIUET 3 R@? (7)-: 28, 33, 3. 36.2, 397



a. 32
b. 34
c. 38
d. 40

Answer, b

22.EFG : 1JK : MNO = ?

a. POR
b. OPQ
c. QRS
d. NOP

Answer. ¢

23, W "Rt Fmen el wed, " el Wnar "fevar wed, "feven” I "uee” weed, "uie=n”! Fhar " e iged, A dnan "figet” wed snfor fiaean”
Tl TGS ged, d¥ GuTdl T HIurdr?

a. gt
b. f=1
c. o

d. foraet

Answer. ¢

24, e T WIE I IR, T g o SR oe. ¥ Y@ enn o, o) w1 e Sy Y aieamied s A S

a. g
b. Hr%H
¢. Y=l

d. g2

Answer. a

25,99 @ v fgmen o anfor wofrenr ufdmen ang, o Rrie wofien fémien orda v, wofter sy firder e o sda?

a. S

b. GT-yd

c. afér -ufim
d. W™

Answer. ¢
26. THFTT (MKS) TS H1)
a, GEmH-fEaa-Adg

b, EAF-HicaT-Tde
¢. Hiez-fra-g



d. dter-dfe-Ade

Answer. ¢

27, e ufge Faaer & ger wuan?

a. Foter Fam
b, Tweft=T FaH
c. wadl= Sral
d. srgarn fon

Answer. d

28, TS HIUMT Wa B Fordl Tdld Y Wi e

b, SaTeq SEA
c. {F 4l

d. ug el

Answer. d

29, HETHHT @R TUGl(g) @evHe TRITNTH Teuld @it o uotg ang omg?

a.off —offug 2/em
b. S 3my/sieg
¢S W 2TH /AR
d. ot =sften e 2

Answer. d

30. g unfl ar dromETE Aed?

a.0°%
b.30°0
c.32°%,
d. it FE A

Answer, ¢

31, At @ tevarE emar gdletat Er sme?

a. 20 B¢g O 20 fFeeds
b. 20 gE30ET Tt

¢. 20 fhagdemsat oRa
d. 20 §EF T 25000 gE

Answer. a

32. Sieg] dlgded gEayul deddd SHd @de! o Sl Wdd L .. feoren womafera @d.?



a. T
b. &f&m

¢. TTR-gfEm
d. gd-ufim

Answer. ¢

33, wictata! @R el € dig geadd T

a. gdde @ gleed
b. Hiei : Mot
c. QT : ASTAF
d. YEary : wwid

Answer. a

34, deg1 Sd) oUIdel gaiai U Rferdted @t

A, HYTT o U
b. 9T o e
c. U o Fedlggy
d. urg 1.

Answer, b

35, wgaEy g gusa?

a, IESIrsd ST =fdaas

b. il wradiaw ol 2

¢. AigeispTigar anfo defearan deft

d. tSrenfive Weamw snfir el siese

Answer. ¢

36. dmerz weuilard @idfieie) S deEer ga?

a. W8 Adcaed
b. @ifd i
c. @E T3
d. @8 et

Answer. ¢

37, aedt wiiie quRgEih wen fed e

b. 46

c. 47



d. None

Answer, b

38. 18769 9 Tz ®Ian

a. 131
b. 123
c. 137
d. 139

Answer. ¢

39. ufgell ofgen =ew O SO gE?

a, Ui Ff
b. 9= sSEmmeEg

¢. Yorell
d. 7frar B

Answer. b

40. 9 e e e e

a. Au
b. Sn
c. Ag
d. Pt

Answer. a

41, FEyel el g aomsia &= fadh o

a. 30°
b. 60°
¢. 90°
d. 150°

Answer. b

42, @it degd arl @iod 7991 Bl 3me?

. Sfaaraet
b. M=

c. Hagd
d. el

Answer, d

43. @idtdt®! e g G em?



a. Fle SUHFES
b. SfifausH

¢ mES BHEEES
d. 7 wd
Answer. ¢

44, SR e gar didl anfor ¥4 agEn S0m 1t a0m ¥d 2 @R o e Feiurg 3 Wlex $g unl qur e A48, @@ @ A AFmes
& e

a. 4800 IR9 Hex
b. 300 9w ey
c. 804 9y e
d. 8009Rg 1w

Answer. ¢

45, Tifuad! ofgdt des S e

a, 21 e, 1526
b. 21 Ufliet. 1562
c. 20 ufir, 1556
d. 2197,1761

Answer. a

46, TE (YEd waE) 9 IRERaT R ame?

a. 50 5
b. 208¢x
¢, 358w
d. 658"

Answer. a

4T.NA B3 4M0TB:C-8:9, TWA:C=?

a.2:3
b.3:2
c.4:5
d.6:7

Answer. a

48, TeTeT TR g For ol ge?

a. 1945



b. 1948

c. 1950

d. 1949

Answer, b

49. 918 I%, UUATd geac ff od geRl aied. 7

a. N1 dd
b. @01
L

d. Trareyu

Answer. a

50. I ez ©.2970 7 &RA.0HT AORIT 0% el gl 20% A6 Teaandt an e fed e e

a.%. 3690
b.®. 3660
c. %, 3960
d. . 3560

Answer. ¢

2.(c)

i2.(a)
22.(¢)
32.(0)
42.(d)

3. (a)
13.(b)
23.(¢)
33.(a)
43.(c)

4. (¢) 5.
i4. Bonus 15.
24. (a) 25,
34.(b) 3
44. (¢) 45

h

Test Answer

6. (d)
6. (a)
26. (¢)
36. (c)
46. (a)

7. (a)

i7.(c)
27.(d)
37.(h)
47. (a)

8.(b)

8. (a)
28. (d)
38.(c)
48. (b)

9. (d)
19.(c)
29, (d)
39.(b)
49, (a)

10.(c)
20. (a)
30. (c)
40. (a)
50. (¢)





